OpenPLC 5T —9947

No 2 Hi(Keyword) T—=9—=8947 Ey ME /ST
1 |BOOL Boolean, 2 /LR 1 no
2 |SINT EEH(Short Integer) 8 yes
3 |INT ¥ (Integer) 16 yes
4 |DINT fEE % (Double Integer) 32 yes
5 |LINT KEH(Long Integet) 64 | yes
6 |USINT FES7% LEEH(Unsigned Short Integer) 8 no
7 |UINT FS7% LEH(Unsigned Integer) 16 no
8 |UDINT FS7% L1EE%H(Unsigned Double Integer)| 32 no
9 |ULINT TS5 LREH(Unsigned Long Integer) 64 no
10 |REAL E#(Real numbers) 32 yes
11 |LREAL £ E#(Long Reals) 64 yes
12 [TIME B 5 (Dulation) —

13 DATE B f$(Date only) -

14 [TIME_OF _DAY,TOD |E%I(Time of Day only) —

15 |DATE_AND_TIME,DT | Bf¢E¥%|(Date and Time of day) -

X F%|(Variable-lenght,syngle-byte

16 |STRING character String) 8xn

17 |BYTE £ ;38 EY M (Bt string of length8) 8 no
18 WORD Ew k3|1 6 Mg (Bit string of length16) 16 no
19 |DWORD Ew F332Ew M (Bt string of length32) 32 no
20 LWORD £ hl64Ey M&(BIt string of length64) 64 no

74 KX F % (Variable-length double-byte
21 WSTRING character string) 16xn
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